
अǓत संभाͪवत Ĥæन – Based on Previous Year Paper

@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan



अǓत संभाͪवत Ĥæन – Based on Previous Year Paper

@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

a and b are the linear pair of angles. a is greater than 
one sixth of the right angle; then

a और b रैिखक युµम कोण ह§। a का मान एक समकोण के एक 
छटव¤ से बड़ा है; तो
a. 0 b. 0 c. 0

d. 0
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An angle is 300 more than one half of its complement. Find the 
angle.
एक कोण अपने पूरक के आधे से 300 अिधक है। कोण ²ात कìिजए।
a. b. c. d. 



अǓत संभाͪवत Ĥæन – Based on Previous Year Paper

@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

If one angle of a linear pairs is acute angle the another angle is
यिद एक रैिखक जोड़े का एक कोण Æयून कोण है तो दूसरा कोण है
(a) Acute angle/ Æयून कोण
(b) Right angle/ समकोण
(c) Obtuse angle/अिधक कोण
(d) None of these/इनम¤ से कोई नहé
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Answer on the basis of the following statements:
When two straight lines intersects, then:
1. Adjacent angles are complementary
2. Liner Pair of angles are a pair of adjacent angles 
3. Vertically opposite angles are equal
4. Vertically opposite angles are supplementary
िनÌनिलिखत कथनŌ के आधार पर उ°र द¤: 
जब दो ऋजु रेखाए ंÿित¸छेदन करती ह§, तो: 
1. आसÆन कोण पूरक होते ह§ 
2. रैिखक यµुम कोण आसÆन आसÆन यµुम कोण होते ह§ 
3. शीषाªिभमुख कोण बराबर होते ह§ 
4. शीषाªिभमुख कोण संपूरक होते ह§
1. 2 and 3 are correct.              2. 1 and 4 are correct 
3. 1 and 3 are correct               4. 2 and 4 are correct
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If 
𝐩

𝐱

𝐪

𝐲

𝐫

𝐳
and 

𝐱

𝐩

𝐲

𝐪

𝐳

𝐫
, find 
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यिद
𝐩
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𝐫
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𝐱
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, तो
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𝐳

𝟐
²ात 

कìिजये. 
a. 2       b. – 1       c. – 2       d. 1
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If , find the value of 𝟐. 

यिद तो 𝟐 का मान ²ात कìिजये.

a. 6 b. 8 c. 35           d. 5
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If 𝟒 and 𝟒 , find the value of 

. 

यिद 𝟒 और 𝟒  तो

का मान ²ात कìिजये.

a. b. c. d. 
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If 𝟐 , then find ?
यिद 𝟐 ; तो ²ात 
कìिजये?
a. -1         b. 3          c. 2         d. 0
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If x is a real number and 𝟑 then find the value of . 

यिद x एक वाÖतिवक सं´या हो और 𝟑 तो का मान ²ात 
कìिजये.
a. 3          b. 6         c. 9           d. 0
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If  , find the value of 
𝟑

𝟑 ?

यिद , तो
𝟑

𝟑 का मान ²ात कìिजये?
a. 110             b. 113           c. 115             d. 120
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If  
𝟐𝟒

𝟏𝟐 , find the value of 
𝟕𝟐

𝟑𝟔 ?

यिद
𝟐𝟒

𝟏𝟐 , तो
𝟕𝟐

𝟑𝟔 का मान ²ात कìिजये?
a. 322             b. 336           c. 343             d. 350
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If , the value of n is:
यिद , तो n का मान है:
a. 3          b. 11          c. 13        d. 7 
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If , x = 

यिद , x = 

a. 5/12            b. 12/5            c. 5/7              d. 7/5
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a. 8           b. 4             c. 1/2             d. 2
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Thank You
धÛयवाद 


